N(_) 22 with open("22.txt", "r") as file:
contents = file.readlines()
print(len(contents))
final_count=20
s for i in range(0,1000):
3ajlaHue BbINONHAETCA C UCNONb30BaHUEM nNpunaraemMmbiXx pannos. count of E =0
count of A=0
for k in range(len(contents|i])):
If 'E' == contentsJi][K]:
count_of E +="1

TekcToBbIA hain CoAepXUT CTPOKU pPasnUyHoOn AnuHbl. O6WMK obbéM daina He ITA -—tco?tintS[i]Zkli
count_of A +="1

npesbiwaetT 1 M6anT. CTPOKM cofep)XaT TONbKO 3arnaBHble 6YKBbl NaTUHCKOro if count_of E > count_of A:

final count += 1
ancbasma (ABC...Z). Onpenenm‘e KOJIMHECTBO CTPOK, B KOTOPbIX GYKBa E print(final__count)

CKayaTb apxuB ¢ dhannamu.

BCTpeYyaeTcs Yaule, 4eM bykBa A.

with open ("C:/Users/grabo/PycharmProjects/olymp/lbc.txt", "r") as file:
contents = file.readlines|()

print (len (contents))

final count = 0

467 for i in range (0, 1000):
count of E = 0
Yuncno P

count of A = 0
for k in range(len(contents[i])):
1f 'E' == contents[i] [k]:
count of E += 1
if '"A' == contents[i] [k]:
count of A += 1
@ 1f count of E > count of A:
final count += 1
print (final count)



